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Question 1 [15 Marks]

NE 3m  F 3m G

Calculate the support reaction at E and the force
in member B@. Indicate whether BG is in tension
or compression. Note that member ABC is rigid. 3Sm
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For your examination, preferably print documents compiled from auto-multiple-
choice.
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Question 1 only - Fill in details on other side of page

() For your examination, preferably print documents compiled from auto-multiple-
choice.
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Question 1 [15 Marks]

NE 3m  F 3m G

Calculate the support reaction at E and the force
in member B@. Indicate whether BG is in tension
or compression. Note that member ABC is rigid. 3Sm
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For your examination, preferably print documents compiled from auto-multiple-
choice.
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Question 1 only - Fill in details on other side of page

() For your examination, preferably print documents compiled from auto-multiple-
choice.



